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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 67/TUS/2, Set [a] on the Answer-Book.

5. (@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in

any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
(b) If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.

T SR :

1.
2.

wieeff J-T % UEel I8 W A STHATS S o |
AT T3 I Al o o AT b Fl IBI qAT THAT b1 341 &1 HEAT 2 Tl 7o I8 6 FoE SR B g1 36 914 I A1
off X < o6 e shftres & 9 2
IHR-Y&Teh § yga-fag sm sryan ffde i & sifafes w5 ft srspame forg w wdemef =i s sgwan smom)
IO IT-GfETeRT W Y- &l HI Fo 67/TUS/2, &2 [a] T
(F) TH-U et f&=<l/ 3N T B foe oft, fe 3ma =g ot i <& 8 foret wep wmwr SR 2 Tehd ®
3SR, Towdt, 35, STl sTer, afiel, HerTem, HAS, do], FUe!, 3edT, TS, i, AT, e, Juret,
U, FEha IR o)
FUT IR-YfGrht # fou e s & ford o6 3y fopw v # s forw @ #
(@) afe s fa=< wa 3ish & arfafcn fereft 3t wmon & 3o ford 2, A ool <61 e & B areft ffeat /afaat i fert
el T Bl

328/TUS/114A [T cer.o.



| Important Instructions |

This Question Paper Booklet contains two Question Papers—one based
on revised study material marked as NEw SyLLaBus and the other based
on pre-revised study materials marked as OLp SyLLABUS.

New SyLLABUS is for those candidates who have registered for 2023-2024
(Stream-I and Block-I) admission and are appearing in April-2024
Examinations.

OLp SvirLaBus is for those candidates who had registered before
2023-2024 (Stream-I and Block—I) admission.

Candidates are to answer only one Question Paper from the given two
Question Papers.

Candidates are not allowed to mix questions from the given two
Question Papers.
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NEW

This Question Paper contains 45 questions.
T Y- % Fd 45 I

PSYCHOLOGY
L IERIE]

(328)

Time : 3 Hours | [ Maximum Marks : 100

g ;3 Hue |

[Tﬁa; 100

Note : (i) This question paper consists of 45 questions in all.

(i) Al questions are compulsory.

(iii Marks are given against each question.

(iv) Section-A consists of :

(@)

(b)

Question Nos. 1 to 20 Multiple Choice-type Questions (MCQs)
carrying I mark each. Select and write the most appropriate option
out of the four options given in each of these questions. An internal
choice has been provided in some of these questions. You have to
attempt only one of the given choices in such questions.

Question Nos. 21 to 29 Objective-type questions. Question Nos. 21
to 23 carry 2 marks each (with 2 subparts of I mark each) and
Question Nos. 24 to 29 carry 4 marks each (with 4 subparts of
1 mark each).

(v) Section-B consists of :

(@)

(b)

(©)

328/TUS/114A

Question Nos. 30 to 35—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

Question Nos. 36 to 41—Short Answer-type Questions carrying
3 marks each to be answered in the range of 50 to 80 words.

Question Nos. 42 to 45—Long Answer-type Questions carrying
5 marks each to be answered in the range of 80 to 120 words.
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(ii)

(iv)

v)

39 YH-u H $A 45 U Bl

aft y e 2|

Y% U o " 31 feu Ty g

WQue-31 o girfed g :

(%) To Ho 1 ¥ 20 T FgIhcHd T, TAHF 1 37 1 &M T & JAh TH
¥ feu T AR fashedi O 9@ IugE foheu o1 e w IR fordl T A FB
gl H 3manek fashed off feu mu ) smuent 3 @ foet we W & I T B

(@) Yo o 21 ¥ 29 % IS T &l Yo Ho 21 ¥ 23 Th Y% & T 2 37
2 (Y% 1 3% & 2 IUNFN @lad) 30 Yo Ho 24 ¥ 29 % 4 37k & & (IAh
1 3% & 4 I9ATI GiEd)|

wue-9 1 wfofed & -

(%) Jo Ho 30 T 35 dh, 2 i at Afd &g T & IW 30 ¥ 50 wegi A fean
SIS

(@) Yo Ho 36 ¥ 41 dh, 3 3ihi dll o YAl & IW 50 ¥ 80 &gt ¥ fean
SHT 2|

() To Ho 42 T 45 dh, 5 bl 9 <" TG & IW 80 ¥ 120 Weai § femn

ST 2

-
(1) Answers of all questions are to be given in the Answer-Book given to you.
aft el & I IR & g IW-Yfaew § @ ford)

(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

T YW-UF I U4 & fou 15 e o1 g9y fear o 81 wa-93 1 faawor Quet o
2:15 &9 fohaT @] Qe 2:15 S & 2:30 &9 d B had YH-UA Hl UG 3R
3 A % SN J IT-YEH! T DI IR T8l fora|

~

SECTION-A

wus—AH

1. Identify the branch of psychology that deals with the study of relationship
between people and physical environment. 1

(A)

Environmental psychology (B) Community psychology

(C) Developmental psychology (D) Educational psychology

328/TUS/114A 4 AT EN



TAfeRE S 39 WA H UgEE HL S A AR Wifas werwr & i w4
Tefed 2|

(A) Eferor aafeme (B) WM TG

(C) Taprarems T (D) Steafores wAIfIR

2. (i) Psychology is a science because its approach is
I. intuition and observation based

II. tangible and evidence based
III. organized and systematic based
IV. introspection and experience based

Select the correct answer using the codes given below. 1
(A) T and II (B) II and III
(C) II and IV (D) T and IV

TR @ o 7 S 2, e s@e gy @

I a9 3R SFacieh e

II. 74 Ud d1ed nenia

III. gafeyd 3R shusgal e

IV. eAMOE Td 3gwa aTia

f= fu T R ¥ T IW H T FHINT

(A) 1T 1I (B) II @ III
(C) III e IV (D) 1 aum IV

Or / HY4l

(i) One of the goals of psychological research is to speculate what will
happen in the future based on what and why of behaviour. This basic

goal is
(A) to describe (B) to explain
(C) to predict (D) to control

TSR STIEUM 1 Th A&d I8 T oI 8 foh SIE@R 1 91 3R FT
YR W 9fgsy § o1 &N 3EhT g @ET @

(A) T T (B) TG HEAT
(C) wfesgamft s (D) fo=or &
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3. A computer scientist wants to enhance the understanding of cognitive
sciences. How will the psychologist help in this field? 1

(A) By regulating human behaviour
(B) By helping the computer scientist to identify his potential
(C) By applying research conducted in human cognition

(D) By empowering people to learn from others

Tsh R A THMICHb I 1 TS I TGHT =Tedl &l FHCHI-h 36 & H ITeh!
%Y Heg HAM?

(A) THa =EER @ faffia &

(B) P b I ST &HAT TgdH H Heg P
(C) wHa T H fhU T SIHYH i AT Hh

(D) «rit ® g & et & foaw gurh SR

4. (i) The figure given below is incomplete, yet we perceive it as a whole. On

which school of thought it is based? 1
(A) Structuralism (B) Gestalt perspective
(C) Humanistic perspective (D) Functionalism

= fem mn foa syu 2, T oft 30 38 9w ®9 4 g@d 21 98 Fohe foRmeam w

SaTid 87
(A) HTHTETG (B) TTeeard ufdie
(C) WHaaETE widie (D) WehrETE
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Or / HY4l

(i) An experimenter wishes to study the impact of viewing violent films on
the aggressive behaviour displayed by adolescents. Identify the
dependent variable.

(A) Violent films (B) Aggressive behaviour

(C) Adolescents (D) Nature of experimenter

T FAITRT fRIIRI g1 WERid 3mshme SeeR W feues fhel t@d % uWE
AR HAT FRd 8 A T H TR

(A) fEaes foedi (B) TS SRR

(C) Terstrrareen (D) ENTeRdl T T

5. (i) During a plantation drive, the number of trees planted by 5 students
is as follows :

5,2,6,1, 2
Such a type of raw data is an example of
(A) discrete series (B) mixed series
(C) frequency series (D) individual series 1
T PRIV AOEE F GRE, 5 BET g AT MU g H HET 3 YRR 7

5 2,6, 1, 2
$H YT I JFEEIYE (gl IEEW B
(A) Ju% e (B) fafym sfaen 1
(C) mafd e (D) =AfHT a1

Or / 37Y9dT

(i) A particular dress has become very popular in the West. Which
measure of central tendency will be used to determine its popularity?

(A) Mean (B) Median
(C) Mode (D) Correlation

ufveH H T fORIY qIemes S8d AR g1 $Heh! Al WUl w % fu hie
Ygid & fohg AT w1 WM R ST@m ?

(A) T (B) wIfEeht
(C) & (D) wEHeY
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6. () There are various factors affecting selective attention. Which one of

the following is an internal factor? 1
(A) Novelty (B) Size
(C) Movement (D) Need
TIATHS SFUH I THIGd HH AT 3P SNk 8| HEGRET § § SE-T1 T
Hh AR 37
(&) Fefa (B) 3R
(C) wfa (D) SR
Or / 37941

(i) Which one of the following is not a type of extrasensory perception?

(A) Telepathy (B) Clairvoyance
(C) Precognition (D) Astrology
frafefea o @ eH-w1 SAfadeTHs 3T HT YHR TG 77
(A) et (B) @i
(C) Wil (D) SfawsTE

7. () Certain stationary, flickering, electrical lights give the illusion of
movement. This is due to

(A) apparent movement illusion (B) Muller-Lyer illusion

(C) Ponzo illusion (D) Zollner illusion 1
Fo o, foufed foseft < Gufaf wfd =1 ym a1 et €1 3o wRw 2
(A) JI <o wH (B) HeW-oTRR 9H
(C) s 9o (D) ViR ¥H
Or / 3741

(i) On looking at an object very close to the eye, our eyes turn inward or
converge, informing us about depth. Identify this cue which helps us
in depth perception.

(A) Accommodation (B) Binocular disparity

(C) Retinal disparity (D) Convergence

328/TUS/114A 8 AT EN



fopeft awq 1 wgd IS F T W EEH ATE 37eX HT 3T g Sl § 3veyEn AnwEha
2 St 2, o8 g6 veus @ gdr Seidn 21 TeUE § g9eH W Ug’e Gehd @
(A) TR (B) T stemman

(C) et e (D) AR

8. Minnie was in a situation where there was no screwdriver, there were other
objects which can be used as a substitute of screwdriver but she could not
use it. This is an example of

(A) mental set (B) brainstorming

(C) functional fixedness (D) analogy 1

st v Ut feufa & & oft, S&T ST U@ IS TRy @ U1l 981 W UFHhd Sl S8
Iehfeqeh ITAN HH RS I IEC Hog off W 98 3 ¥ foReht w1 s € e urRh

TE IS 8
(A) TR fRafa = (B) dfgsfierar
(C) wrEfegs fRrar 1 (D) HTGAT/FHEAT h1

9. Rehman is facing a lot of pressure at work. How would Yerkes-Dodson law
explain the relationship between anxiety and his performance? 1

(A) If the anxiety is too high, performance will increase
(B) If the anxiety is too low, performance will increase
(C) If the anxiety is too high, performance will decrease

(D) Any amount of anxiety will not impact performance

TEHM %! HM H HIHI CEE 1 GHAT 1 98 @ | Jo-sigad e gfedar 3k 39
eI % off9 TEY hl HY T ?

() afe foar sga fae 2, o ool wem

(B) afe foam sga &m0 7, 1 WexA "W

(C) afe foar sga faes 2, A oo %9 A
(D) foar &t ®E oft wEn yes W osER TE gt

[T cer.o.
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10. Harminder, now a young adult, still remembers what her friends gave her

on her tenth birthday. Under which stage of memory this is stored? 1
(A) Short-term (B) Sensory
(C) Long-term (D) Desktop

TG, S 376 TH Ja1 I9h 7, I ft oft I B o6 39 qud Fwfed W 39k el
3 1 fean on 98 19 Acea (WEH) & fRE o & 3iariq gufed feen Simar @7
(A) eTgHIIcTH (B) =

(C) ErefenTicTen (D) S&held

11. Annie has got a new phone with a touchscreen. So now every time she
uses her old phone, she keeps touching the screen. This is due to

(A) retroactive interference

(B) proactive interference

(C) forgetting

(D) poor recall 1

Uf I @ BhF aTe U T B e 21 sEiee o1 w9 ot 98 ST UAT % ST
F ], I B T &l B SEH a9 B

(A) qecEfl FEE
(B) el gaad
(C) Toremmr

(D) TUE TR

12. (i) What are the characteristics of applied research?
[. It is concerned with finding solutions to practical problems.
II. It is carried out in field settings.

III. It focuses on different aspects of problem solving, memory, etc.

IV. It is mostly carried out in laboratory settings.

Select the correct answer using the codes given below. 1
(A) I and II (B) II and III
(C) I and IV (D) II and IV

328/TUS/114A 10 AT EN



IIIH SFLEIE I I ferwand g7

. 3Ol GeY ARG T3 & GHEE @oH d B

1. 38 $ieg Afdn § yam frm S 2|

1. 98 gwen gmaH, @fd onfe % faftm veqgst w = Sfgg s 2
IV. 391 ket SEWTEMmen Gfem ® w=m fohen Sman 2|

H= fou T R ¥ I W H T FHINT

(A) I T 1I (B) II @ III

(C) I @m IV (D) II @e IV

Or / HY4l

(ii) Identify the statement that is true for mean as a measure for central
tendency.

(A) It is simple average for all items in a series.
(B) It is the score that divides the distribution into half.
(C) It is the highest frequency in the distribution.

(D) It is the grand total of all items in a series.

3 HUF H UgEH hIfT, S hgE g % wH *k ®Y H wed & e 9 2|
(A) foret sm@en & @t whiE * fow a8 @ s R

(B) ¥ =& G B, S faaww 1 ang § fqfa st 2l

(C) ¥ foaqwor # I=aw amafd 2

(D) I8 TH T@AT o G TH H FA I 2l

13. () What is the most frequent expression of an infant’s fear? 1
(A) Parent anxiety (B) Stranger anxiety
(C) Fear of falling (D) Sibling anxiety
s g & A mew 3w Afveate s R
(A) IAfvTEes 61 foa (B) Tret o
(C) i &1 = (D) wE-sed & faar
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Or / FYdar

u at 1s the crisis that young adulthood goes throug uring
1) Wh i h isi h dulthood h h duri
psychosocial development according to Erikson?
(A) Trust vs. Mistrust (B) Initiative vs. Guilt

(C) Intimacy vs. Isolation (D) Identity vs. Confusion

TR % IR, TEmEIe faem % SR Ja1 a9 fohe Hehe @ ToRar B7

(A) Tovam smm sfavam™ (B) UEHA SATH YUY
(C) ATl S FerTE (D) Ug9H &9 ¥H
14. () What is the role of early stimulation during infancy? 1

(A) Accelerating the speed of development
(B) Forcing the child to achieve goals
(C) To prevent them from experimenting with their environment

(D) Optimizing development in different domains

AEERT H GRE TR Iaen R fiest 27
(A) =g fopra <l Tl =1 a5 et B

(B) I8 S I W& UHH A & fou smey et 7
(C) T2 32 I qAfeRol & WY T HH F Ushdl B
(D) =g faftm &= & fawm @1 srgpfaa w2

Or / FHYdl

(ii) Select the striking physical feature of adolescents from the options
given below.

(A) Physical maturation (B) Object permanence

(C) Attitude formation (D) Emotional strength

F= feu Tu fashedi ® & e 1 meRde Wi fomiwar &1 ==e HINT
(A) i itaeRar (B) a&] TR

(C) wAghy frmor (D) WTeHTcHS

328/TUS/114A 12 AT EN



15. Which one of the following is not a concern during early childhood?

(A) Toilet training (B) School readiness

(C) Autonomy vs. Initiative (D) Industry vs. Inferiority
frefafgs @ @ Ha-1 TR sTeaeEn % de far w1 faww 7@ 20

(A) = gfsteTor (B) & Tl

(C) Wrmal s g (D) 3TN S EHaT

16. Adolescents compare themselves with their role models and try to be like
them. This is due to

(A) propositional thought (B) deductive reasoning

(C) idealistic thinking (D) egocentrism

foReit T 1 o1 3T T WiSell § id & 3T 3Tk S| S T TAE Hd 8| FHHRI
HRT B

(A) TEaETHS foER (B) frmHTcHs ek

(C) 3ITTefaTdt @ (D) 3TEehigaT

17. (i) Children during the early process of cognitive development call all
moving cars, a truck, as they have an existing schema for a car.
According to Piaget, this is due to

(A) assimilation (B) accommodation
(C) organization (D) equilibration
GRS Taehra sl IR Ifshan & SO 5= @t Iefdl SRI 1 7o Had & Fith
ITh I HR H T U Hivel ER@T (WhT) Bt 31 RS % STER s8R SR
g
(A) JATHHATHITT (B) TSN
(C) e (D) #ger
Or / 379dT

(i) Mani, an adolescent, believes he is the only person in the world who
feels certain emotions and that no one else could ever understand the
difficulties he is facing. This feeling is due to

(A) idealistic thinking (B) personal fables
(C) imaginary audience (D) propositional thought

328/TUS/114A 13 [T cer.o.



fopei AftT 1 7T @ o6 98 SR 1 ThAT =R @ S $ WIeIsTi %I Heed
AT B qUT IS i I HieATgal S TE THe Fehar T AHAT 98 A & | ITeh!
T WAl H a8 B

(A) et wr (B) wafteT e /war
(C) Hreufish g3l (D) WEATETHs =R
18. Manish, in order to remain thin, starves himself. What is this disorder
called? 1
(A) Anorexia nervosa (B) Binge eating
(C) Dieting (D) Bulimia
Ty el A % folu gg @ q@n W@ 81 36 fIeR sl w hEd 87
(A) TARfERERT FEtEn (B) fo= sfem
(C) smfém (D) A @H &1 fosbr (Fefifimm)

19. A young child is unable to distinguish between what he can see and what
others can see from their angle. This is due to

(A) centration (B) lack of conservation
(C) animism (D) egocentrism 1

Th BIT-H1 S 98 e bl § reme gar 3 6 9% w0 4@ @ R e g I g
H B <@ @ B FEHI B B

(A) R (B) TRV HT AU
(C) SheaTg (D) STEHR—hgrl
20. (i) Artists create depth in their two-dimensional paintings. What are

these cues called? 1
(A) Non-visual cues (B) Monocular cues
(C) Binocular cues (D) Good form cues
FHATRR o fg-mamf dfém § Teus 9 wd §| 3 Hehdl I R HEd @7
(A) -3 Hehd (B) Th-3TmH Hahd
(C) gt weha (D) 3T=8 ®H % Hohd

328/TUS/114A 14 AT EN



Or / HY4l

(ii) Aaliya gets very distracted by the loud music playing outside. She is
unable to concentrate on her studies. Which component of emotion is

this?
(A) Physiological (B) Cognitive
(C) Behavioural (D) Psychological

AT T o1 | aw wifta & sga et & 9w 81 98 o uers § e higa
TE B U1 W Bl T8 HOT HT HI-G1 HIh 87

(A) wiifeR (B) THHIcHS
(C) =eETieh (D) WA
21. Answer any two of the following : 1x2=2

(a) Identify the view that says language determines the content of
thought.

() What and how individuals think is determined by the linguistic
categories they use. This is known as what?

(c) Ildentify that period when learning must occur according to Chomsky.

(d) Who said that language and thought develop separately until two
years of age and merge later?

frferfigd # & fpdl @ & I AR

(%) w1 1 foem it gt fuifa $@ % fou aerlt iR+ g g ot
1 HEd 87

(@) T ARk F 3N KA F=al & I8 396 gl TPk el afei & faifa g 2
a8 fopm 9@ @ ST W B7

(M) 3& FFEfy hl UgEE B e =EH % IAR, G A g1 =R

(=) foraa a1 T a3 fomm @ o 61 3y 9% 3reT-3tem fokfad @ 9§ ek
o § ThH-gm # foela & 9 &7

328/TUS/114A 15 [T cer.o.



22. Match the following Level of intellectual deficiency with their IQ

(any two) : 1x2=2
Level 10

() Mild (i) 35-49

(b) Moderate (ii) Below 20

(c) Severe (i) 20-34

(d) Profound (iv) 50-70

fiefefian difgs M % R F1 IEH IEo o H Wy Gk BT (B A) -
T A0 FJo

() Boohl (i) 35-49

(@) "= (i) 20 ¥ w9 (F=)

() TR (iii) 20-34

(&) & (iv) 50-70

23. Fill in the blanks with the leadership styles that you have studied

(any two) : 1x2=2

(a) A leader who inspires his people to achieve their goals and leads an
exemplary life is said to be a _____ leader.

(b) ____ leaders perform the act of planning, organizing, controlling and

meets the set target of the group.

(c) kind of a leader assumes absolute power, imposes goals and
resists change.

(d) Leaders participate, involve people in decision making. Such a leader
follows style of leadership.

I 9 Aqc Aol w1 ERA TR ?, I omuR W e Wil gfd
T (1 Q)

(%) TH =T, S 370 AN Bl I AT TH W & 1w INd ear & 3 wh g
e S 2, I HEAT 2

(@) a1 TE % e, gned, feEw et fgifa dE S U S @ SR
AT B

(M) YR W Far qui Ik T@ar 8, & Auar g 3R ufedq w1 feliy s 2

(9) 39 a8 o Al MU o9 H 90T ofd &, S ol IS Hd g1 UE e
Seft ST FTTE A &

328/TUS/114A 16 AT EN



24. Which schools of psychology emerged from the following ideologies?
Attempt any four : 1x4=4

(a) Psychology is the study of the structure of mind and consciousness.
(b) The focus was not on the structure of mind but on its functions.

(c) Our perception and understanding of objects are more meaningful
than its smaller parts.

(d) Psychology should focus on observable behaviour that can be
observed and measured in a scientific manner.

(e) Human behaviour is a manifestation of the unconscious motives,
needs and desires of which a person is not aware.

(f)/ Here the emphasis is on the person’s sense of self.

frefefiga fommumst 4 gaifas@ A wH- a6 ofd 3w 27 fodl sm @
Waﬁﬁ:

(%) TR 79 3R =1 I AT & JIERA 2|
(@) 91 (Wihd), I9 Sl TEAT W T&f dfceh 3T HET T AT

(M) g b AR EER weEw i wwy Iwh BRIl f qeen # s @i
=il 2

(") HAIfSRH i FTATRAITT SHIEN T M higd AT A1EY 8 d3ies aleh ¥ e@n
3R AT ST Gk |

(§) AHd SHgER TH 3MEdT 32991, $TOI3T 3 Mewehdran i 3ifireats & e ar
T =af @ IHed @ B 2|

(F) ugl =afth 1 @ A wedr W AR fean @ Rl
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25. Which kind of heuristics is being used in these statements? 1x4=4

(a) People substitute simpler but related questions in place of more
complex and difficult questions.

(b) If you are thinking of flying and suddenly think of a number of recent
airline accidents, you might feel like air travel is too dangerous and
decide to travel by car instead.

(c) A soft-spoken older woman might remind you of your grandmother, so
you might immediately assume that she is kind, gentle and trust-
worthy.

(d) The tendency to be overly influenced by the first bit of information we

hear or learn, can make it more difficult to consider other factors and
lead to poor choices.

frfafga oAl § fohg wohR 1 g Jomell/3we-3naTia JumTelt 1 = feRem S
Wl R?

(%) o Afys Jfed 3R HieT Tl F WH W WA W d6fd I W@d 2

(@) 3P 39 g3 AT o 99 § A9 ©@ 2 3N =M a1 i H g3 g
IR H |I= % RN TET AT @ Toh gaT8 AT 980 @Ak & 3R 36k S9d HR
T I B H U wd

(1) UH Hg-u g Hfgen ARl AT G 1 ATG AT FHT 8, g@lAT I I Gl
T, E 3R WEEe °H od 8|

(F) TR G 9 g A1 HEl TE THHH § GG B 1 TR % RO I BRI
W o @1 Hied 8 ghd 8 3 @Ue fahed 9@ 311 Fhd B

26. Fill in the blanks with the kind of intelligence it defines (any four) : 1x4=4

(a) intelligence is involved in the analysis of information to solve
problems.
(b) intelligence is involved in using past experiences creatively to

solve novel or new problems.
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(c) intelligence involves the ability to deal with environmental
demands encountered on a daily basis.

(d) involves complete awareness of our relationship with the natural
world.

(e) refers to the knowledge of one’s internal strengths and
limitations, and using that knowledge to effectively relate to others.

(f) intelligence is the feeling side of intelligence.

fafirmr ohR 61 i /g - w1 oG w0 el T/ @ s e 6 g
HINT (P W) :

(%) THENSN Bl A B & oI gom & fovormwr & _ gigman v 21

(@) FdH A1 T3 THES B FA G & U s SAquEl 1 TS ST HE H
_ gfguan wmfte ®

(M) efeh YR W W arell wafawel A & fued % forw I gfgaar ®
it 2|

(|) Thfaeh gHET % |19 AR FEYi o R H I Iekdt aW ¥ gfgwan Wi
2|

(3) forelt 1 arraftes wiral 3R SIS 1 JE 701 38 FH H1 3TN GEU T THTEA
1 ¥ HE H A @ |

(@) ____ gigwan, gigaan o1 Igufd 9@ R

27. As a psychologist, you have been given the task to assess intelligence of
the following people. Which type of intelligence test would be the most
suitable? Attempt any four : 1x4=4
(a) An illiterate person who is not familiar with the language

(b) A test administered only to literate people

(c) Persons from different cultures
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(d) Administering a test to several literate persons simultaneously
(e) One which can be administered to one person at a time

(f) One that does not discriminate against individuals belonging to
different cultures

U HACINS b &9 § AUl feffaa o i giguen w1 3o S #1 B
fean mn 21 38w & forw frm wew w1 gfg wem e 3wy sme fREl W m o
Wﬁﬁ?:

(%) U g ARk & fou S oo @ uifea @ g

(@) had deR ART o AU wemida ferem mem e

(m fafim il & st & foo

(I) Uh WY hs TR SARBAT o (I Teh T B Y&Y AT
(3) o = 993 4 w* & Rk hl TG R ST Al @
@) = foftm spfdEl @ oo iua eI & @1y HewE 98 el

28. In the formation of a group, there are different stages that it goes through.
Identify these stages (any four) : 1x4=4

(a) In this stage with growing familiarity, conflicts might arise due to
disagreements, frustration or annoyance with each other.

(b) Here the group members unitedly work towards the attainment of the
targets of the group.

(c) In this stage, people are just getting to know one another and
discovering the ideas and opinions of one another.

(d) In this stage, the group after achieving the target for which it was set
up is dissolved.

(e) At this stage, norms are developed regarding the behaviour of its
members and also the possibilities and expectations from each
member.
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foret Tqg & fmfor & fofte oo/« 8 @ o1 wsd@r @1 3T SN HI TR
(®E TN :

(%) 30 = H gl AH-T8IH % G, TH-A § THSAN, AT AT FIHARE b HR
oy /qd¥ie 399 & Hehd 2

(@) 39 =0 ° g & U Thud Bh TYE o @&l ol NN o U T & 2|

(M) 3@ T G wE TR H I @ 3 AR Th-g % R i T A a
w® &

(F) 39 = ° 5| a5y % fow aqg o1 Ted R M o, 38 U % % S1g W T
fean sman 2|

() 39 901 § Hg % FeHl % FER IR TS e hl AWEHIS R UL 6
ey o AHes fasfaa fu I 2

29. Attitudes can be learned or acquired through various sources. Fill in the
blanks identifying the primary sources of attitude formation as seen in
the following examples : 1x4=4

(a) Panna loves a particular song as it brings back memories of his good
times with his friends in the village. Here attitude formation is due
to

(b) A child regularly eats well and finishes the food due to the
appreciation that he receives from his mother. Here attitude formation
is due to

(c) A child may watch his/her grandparents being respected and taken
care of by everyone in the family. He has a positive attitude towards
the elderly. Here attitude formation is due to

(d) Young children adopt a positive attitude towards waste management

by gaining information from social media about its benefits. Here
attitude formation is due to
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fafia &al & wghs &t S @ i o s gear 21 feu U e & i i
% UfHeh Fdi hl TeEE e TUE h gid HINT

(%) WA Hl Th RN THT 950 969G @ il I8 Ta § 3qh qrdi o a1y foam 3=
Tell hT I AN H ol Bl Tl % Ho wEgha w1 fmio gam R

(@) T =1 3 A 4 Ty ot gus & wro fEfie w9 9 3= @ @ @@
7 3 3 U uTe w1 2| A& % HRU FAGR w1 Fmi geT Rl

() TH S AW TE-gG! hl GRER H Tt 6 g FHE 3R @I Hd gL @]
21 gt % wfa IFRT BRI HHERIHR 21 AR % HRO T w1 i
B 2

(F) BR I de Hifew § ol ugel % YEYd o v § e SR
Wd § 3R HHNTR g AT B FE % RO TN W fAmi
=IaT 2|

SECTION-B
Eus—d

30. How is the sympathetic nervous system different from the parasympathetic
nervous system? 2

I dfrept @3, weTEN dbeer 93 @ fhw yer fim v

31. What is the importance of a hypothesis in an experiment? 2

forehl s # fehedT w1 T HEE 27

32. Discuss the various stages of infancy and childhood development. 2

SvrETeET R STeaeEdt faem & fafim =won &1 3gw Hifsu

33. Some people are academically very successful but have problems in their
family life and in interpersonal relationships. What do they lack? Explain.
1+1=2
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FO AN JA0H T ¥ 9gd T &1d 8 W I TINET e 3R IRt dedi J
wed @ ) 3 s At €7 avl i

34. Jasmine is going through a period of intense sadness, loss of interest or
pleasure in most activities. Identify the disorder and its other symptoms.
1+1=2

ST el (dte) Igr, st wfafafet @ R w1 stHe B e % ER W TR @
2l ST & Afthea # -7 fowr B 3R ITS A FAT A0 87

35. Differentiate between bipolar disorder and mixed disorder. 1+1=2

fageh fompr aen fufiq faer & iw #1 R saEY

36. (a) What are the three different types of experiments used in experimental
research? 1+1+1=3

Or
(b) Explain the three different types of correlations. 1+1+1=3

() TR STHEYE H UM fhu I aTel @A STeTT-ster Y He-d §7
rern
(@) "euay & o= faftm yeri i =men i)

37. (a) The passengers who daily board a bus to go to the railway station are

as follows :
Area No. Number of people
Women 10
Office goers 20
Labourers 30
Adolescents 15
Shopkeepers 25

Construct a pie chart with the data given showing the proportions and
show the steps. 1+1+1=3
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Or

(b) A psychologist wishes to conduct a research on the role of Facebook
in fighting misinformation online. Which research design will she use?

Explain.

(%) Yfdfed Io9 Wy 9 & fw <9 § =9 919 T hl 9 39 TSR B

gETE | @/ = e
HigeTq 10
FIHE S T 20
EEC 30
AEINS 15
MR 25

3T fe@Td gU feU T ST % SMUR W TH us =@ SsY IR fafim =won @

3g@ i)

HAYA

(@) T TS AT Told a1l d @ed § Haeeh ! el T 3N ST It

2l 98 fra iy fesrd 1 swam wufi? e Hifvu)

38. How does one get to know that the child is in the concrete operational

stage?

g H8 @ B 6 s= @1 o qd afsearenes stewen § 27

39. How does assessment of intelligence take place?

gfg 1 oA hH BT 8?7

40. How do we know that a person is showing signs of poor mental health? List

any three characteristics.

1+1+1=3

T HY qar go 6 e =Rt § wue aeiie @ & aen fomi T ® 80 R

q A&l w1 3gE Hi
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41. (a) Raja visited a psychotherapist for his poor mental health. His
therapist has prepared his case study. What are the other steps that
would follow? 3

Or

(b) Mr. Y has been diagnosed with obsessive-compulsive disorder because
someone in his family also has it. What are the biological factors that
might lead to disorders? 3

(%) TAT A TS qHEAS W@ & folu teh gaifafeheds & @ T 39 Fafecas
9 3Ehl HE WS TR Hl| T TG IR HH-8 HeH 33T A ?

HAYA

(@) iRt Y &l A TcHeh—SedTiaeh i &1 FEH 8311 8 iifeh Iqeh TNaR o fhHl Hee
T 98 UEd & 21 HE-¥ AfGh HH @, I [GERI T BT S Thd @9

42. (a) How does decision making take place? Discuss the process/stages of
decision making. 1+4=5

Or
(b) Differentiate among the three major theories of emotions. S

(%) Toim o o Smar 22 fola o= i afskan/=won w1 avia i)
Jreran
(@) Gami % d= g fagdl & di9 % @ w1 wy Hifg

43. (a) As you watch the Republic Day parade or remember your physical
training sessions at school, the first thing you are taught to respond
to is ‘attention’. Explain attention and its functions. 1+4=5

Or

(b) While talking to a group of people at a party, if someone in the far
corner of the room utters your name in a conversation, you are still
able to attend to it even though you are not engaged in that
conversation. Identify this effect and explain the other factors
affecting selective attention. 1+4=5

(%) G & 3T M0 fGaE H WS GWd § A TR/ H 7 IR A& 7 Bl A1G
A 8, dO T Ugelt =i G W 3aeh gfdafskan e fawmn Sar R, 9% R ‘e
S 3T 3IHb BT 6l AR HifoT|
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44,

45.

328/TUS/114A 26 AT EN

e
(@) et ol § RN % TH HYE ° 91 Hd G, G FA k@ M H HIg ARG
A T MUl AW W YHRal 7, 9 39 Sa€ld W SF ¢ § W gd 7, ¥
El 39 39 STa=id U I T B | 39 I9E I UgAH 3R TS FTLH I T
HH IA AT BRI hl AT HIT]

Explain the psychological factors that could lead to poor mental health.
3T AT el ohl SATET hifT, S @UE AHeh L &1 %0 &9 Thd 2l

As we look around us, we see that prejudice and stereotypes are acquired
through learning and exposure to various sources of information such
as social media, newspapers, advertisements, movies, etc. Suggest some
strategies to reduce these stereotypes and prejudices.

S g9 30 IR 3R U *d 7, A1 9d & b qaiE 3R wfeat g % fafve wral
39 giwe Hifean, ouemeE, fagmoE, e onfe & d9ush § 39 9 digd @ Al
H &l 1 EGAT IR TEWUE Pl HH HEH & T B OHTE H1 e G
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This Question Paper contains 41 questions.
@ TH-T % Fa 41 T B

PSYCHOLOGY
BElCRIC]

(328)

Time : 3 Hours | [ Maximum Marks : 100

g 3 Hue |

[Tﬁ_tﬁ 100

Note : (i) This question paper consists of 41 questions in all.

(ii) Al questions are compulsory.

(iii) Marks are given against each question.

(iv) Section-A consists of :

()

(b)

Question Nos. 1 to 12 Multiple Choice-type Questions (MCQs)
carrying I mark each. Select and write the most appropriate option
out of the four options given in each of these questions. An internal
choice has been provided in some of these questions. You have to
attempt only one of the given choices in such questions.

Question Nos. 13 to 25 Objective-type questions. Question Nos. 13
to 19 carry 2 marks each and Question Nos. 20 to 25 carry 4 marks
each (with 4 subparts of I mark each). Attempt these questions as
per the instruction given for each of the questions 13-25.

(v) Section-B consists of :

()

(b)

()

Question Nos. 26 to 31—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

Question Nos. 32 to 37—Short Answer-type Questions carrying
3 marks each to be answered in the range of 50 to 80 words.

Question Nos. 38 to 41—Long Answer-type Questions carrying
5 marks each to be answered in the range of 80 to 120 words.

(vi) Attempt all the questions either from Optional Module A or Optional
Module B in all Sections.
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fee: () 3@ 99-71 § $ot 41 I B
(i) @\ ye fvemd F
(i) UA% TN % "HA b U MC B
(iv) We-a1 § @ftfea g -
() ¥o Ho 1§ 12 T Sglashodld T, Y% 1 31 1 BN 370 § Y% TH

¥ fou o AR faswkedi O @98 IWE foehew 1 T w3 fordl T A $B
T i fohen Wt feu U €| st I 9 fRE T 1 & I o 2

(b) Jo Ho 13 H 25 e IEIME Y &| Jo Ho 13 ¥ 19 T JAH & ol 2 3h
2 3 Yo To 20 25 7 4 I & & (JAF 1 3k & 4 ITAWN @) |

(v) @e-a H gfiifera g :
(a) Jo Ho 26 T 31 Tk, 2 i act 3ifd &g WAl & IW 30 ¥ 50 vegi § fean

SicI ]

(b) To Fo 32 W 37 Teh, 3 3T dTcl oy Ul o IW 50 § 80 &gl i dfidr |
< 2l

(c) Wo o 38 ¥ 41 dh, 5 3Fehl dTct oFl YT o IW 80 ¥ 120 Wegi shi €
7 e R

(vi) @i @uel # Shfouss uissa 31 A1 Jhfous wisge & @ |eft YAl % IW <

N
(1) Answers of all questions are to be given in the Answer-Book given to you.

aft goAl % I IR § TS IH-Yfeawt § & ford

(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

T YW-UF I TG4 & fou 15 e =1 g9y fear mn 81 wa-93 1 faawor Quet o
2:15 &9 foham S@M| Qe 2:15 S & 2:30 99 d O had YH-UA i UG 3R
3 A % SN d IT-YEIHI T DI I T8l fora|

\_ J
SECTION-A
Lus—AH
1. () Which is the technique not related to control the unwanted
extraneous variable? 1
(A) Matching (B) Manipulation
(C) Elimination (D) Constancy
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fafafaa & & - dode sEifed s =X (=) =1 Feha w0 8 gefia

T 27
(A) frem (B) Srg-drg (2-H)
(C) 3~IH (D) T
Or / FYal

(i) How many billion nerve cells a human brain contains?
(A) 10 B) 15
(C) 20 (D) 25
Tg Afeash § fraft 3w dfer Sifsred gt 82
(A) 10 B) 15
(C) 20 (D) 25

2. (i) Which is not a primary need? 1
(A) Food (B) Water
(C) Sleep (D) Love
frafafga @ @ Ha-f wafie smawEsa 7@ 27
(A) wISH (B) G
(©) i (D) =m
Or / JYa1

(i) What is the stage of uncertainty and self-doubt?
(A) Pre-school (B) Mature adult
(C) Adolescence (D) Aging adult
FrffTadar 3R SATedds 61 rEe w1 87
(A) S&pet (B) uiush Iu&h
(C) Terstrrareen (D) AYTd TI=H

3. The smallest unit in a human body is called

(A) cell (B) synapse

(C) soma (D) brain 1

wHE TR gl B 3T hHEelrdl B

(A) =hIRRTERT (B) =iy

(C) |1 (hifvrehr ) (D) wfeash
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4. (i) Which is not an external world information collector? 1

(A) Vision (B) Audition
(C) Smell (D) Vestibular
FH-1 wre fova gEAT GuTes @ R 7
(a) 3 (B) &
(C) ™ (D) v
Or / 379d7

(i) Who demonstrated perceptions of contours?
(A) Werner (B) Kohler
(C) Kafka (D) Wertheimer
IR h1 UROMSAT 1 TeuA fohem fepam?
(A) R (B) HEH
(C) hTHRI (D) FIR (TEEW)

5. (i) Who first found the link between body states and emotion? 1
(A) Kluver and Bucy (B) Cannon and Bard
(C) James and Lange (D) Karl Lashley
IR STEEA13Tl 3R WEAIsT % o9 g9y 999 9gol fohed qmn?
(A) FIIR 3R = (B) w 3 TS
(C) Sm| 3R o (D) Tt At
Or / 37941

() Who is the author of the first intelligence test?
(A) Binet (B) Terman
(C) Spearman (D) Wechsler
YUq §fg THH & qE@H B 87
A) fom (B) <HA
(C) Tfrrda (D) dF=R

6. Which one is a psychological disorder? 1
(A) Cancer (B) AIDS
(C) Phobia (D) COVID-19
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faffed 9 @ ®F- mewe fowr B e

(A) Hw (B) TEH
(C) wifern () (D) whifre-19
7. What is the representation of ‘Think Locally, Act Globally’? 1
(A) Positive emotion (B) Negative emotion
(C) Zero emotion (D) Promotion
THE T W AN, 3ftes (yHeeE) TR W & # & gfatfe @ 2
(A) HhITcHh YT (B) HpIIcHsh HISHT
(C) A wre (D) e
8. Who can best understand the child? 1
(A) Teachers (B) Caregivers
(C) Siblings (D) Parents
T B TEH T WG D THY Hehdl 87
(A) T (B) @Y W AT
(C) wE-v&d (D) HTar-foar
9. When a test yields similar results on different occassions, it is known as
what? 1
(A) Validity (B) Quality
(C) Reliability (D) Quantity
39 wheu w1, S AR el W wEE uiomm <9 8, 991 HEr Sl 27
(A) Qe (B) TrEEl
(C) TowaErar (D) W
10. (i) The regions where impulses cross from one neuron to the other are
called
(A) axons (B) synapses
(C) dendrites (D) somas 1
3G & I, & IICH Ueh Alehl BRI § QU dl=eh1 HIRERT H @1 &, FHal
ST B
(A) e (B) —Riaf
(C) gfeFet (D) =T
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Or / FYdar

(i) Who is the proponent of operant conditioning theory?

(A) Watson (B) Skinner
(C) Ivan Pavlov (D) William James
ffufens /afsra (affwle) srqgen fagia % gfadaes w0 27
(A) dfead (B) fep™
(C) ¥aM e (D) faferem S
11. What is the rapid growth rate stage? 1
(A) Infancy (B) Early childhood
(C) Middle childhood (D) Adulthood
fi fasrE @ & srawen HH-H 27
(A) Qe (B) wrifires Sherarereen
(C) TeT STaTeer (D) aFEHAT
Optional Module—A
Jehfeue ATsE—at
12. (i) What is vocational education? 1
(A) Primary (B) Secondary
(C) Higher Secondary (D) Polytechnic
SrawTie e w®m 27
(A) wmafren (B) weafir (Tehedl)
(C) 3= meAflsh (PR Hhsl) (D) difetesiaeh
Or / 37941
Optional Module—B
ehfcdeh WIS oi—a
(i) Who are the first socializing agents for the child? 1
(A) Siblings (B) Friends
(C) Parents (D) Teachers
T % foIU T8l AR T B 27
(A) STE-TE B) frt
(C) TTar-foar (D) Toreres
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13. Answer any two as directed : 1x2=2

(a) Ego operates on the principle.
( Fill in the blank )
(b) Superego incorporates the of society.
( Fill in the blank )
(c) The id is not present at birth.
( Write True or False )
(d) The ego develops after birth.
( Write True or False )

frafafea & @ f5dl @8 & figamgar sw s
(%) 3% _____ Toga w w6 w2

( foh T &t gfd Hifse )
(@) gOET a6 ol IS Ll 3l

( fop T &t gfd Hife )
(M) 3§ (id) 9 % HWg WG T Bl 2

( & P oA farae )
(F) S % §¢ 37 fawfda gar 2

( & P oA farag )

14. Answer the following questions : 1x2=2
(a) Describe classical conditioning.

(b) Give an example of secondary reinforcer in classical conditioning.
frefafgd w=i & I T

(%) YTE 3TgHeH H1 GUE Hifg|

(@) wefE 3ged § fodtas gedieon w1 T See A

15. Write notes on the following : V2x4=2
(a) Functions of pituitary gland
(b) Functions of adrenal gland
(c) Functions of pancreas
(d) Functions of gonads

Frafafge w fewhrt fafae -
(%) freeett ofy & +rd
(@) sfugs af & *E
(M) = U % wE
(=) Jfwt & $

[T cer.o.
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16. Answer the following questions : 1x2=2
(a) Describe learning curve.
(b) Describe the nature of learning.

frafafaa gt & s G .
(%) Higa i Tshi@r &1 gu hHife)
(@) H@" & THid H GUE HIC)

Optional Module—A
ehicueh ATsE—a3t
17. (a) Enlist some special training institutions to enter into the occupation. 2
FaaE U W&y & U 3o e ufvew weumt w1 geeg Sl
Or / 379dl

Optional Module—B
ehfeudh ATSIe—a
(b) What is the need of the play center? 2
T g h AT IMEYIRAT 77

Optional Module—A

Jehfoueh AT A—3
18. (@) Explain work motivation. 2
warge fo6 wE Jwon w0 R
Or / 37941
Optional Module—B
ehfeudh ATSIe—a
(b) What are the design characteristics of good play equipment? 2

I3 Wl TR hl feered fomward s &7

Optional Module—A
ehfcue ATsE—at
19. (a) Explain realistic personality and job relations. 2

Jqrefardl sHfthea IR iRl TeEl i =mE i)
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Or / HY4l

Optional Module—B
Aehfcdeh AISei—a

(b) Write down some names of the indoor play equipment in the play
center. 2

T &g U B TR @ TR & I fafey)

20. Answer the following as directed : 1x4=4

(@) Monocular and binocular cues help in perception.
( Fill in the blank )

(b) Retinal disparity is monocular cue.
( Write True or False )

(c) Write about the law of Pragnanz.
(d) Write about the law of closure.

freafafea woi & 3w Fdemgar i
(%) TH-IAT Gohd 3 fgsfta @ha  grom # ¥ee W Bl

( feh wom 1 gfd Hife )
(@) WA FHHAHAT UhhINEhIT Tehd 2|

( @& Y T fofe )
() R i fafr % R g fafag)
(7) s< Imepfd & fafs % v & fafeu)

21. Write notes on any four out of the following factors influencing learning : 1x4=4
(a) Reinforcement
(b) Knowledge of results
(c) Distribution of practice
(d) Whole and part learning
(e) Meaningfulness

freafafga # 9 fodl o ‘digd =1 avifad 3 9 wrel | fewfiet fafe -

[T cer.o.
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22. Answer the following questions : 1x4=4
(a¢) What are different types of conflicts?
(b) Describe any two sets of values provided in the framework of Dharma.
(c) What do you mean by self-efficacy?
(d) What is achievement motivation?

(%) gg o fafie R @ 27

(@) vd &% g9 ¥ yg@ fohu MU geuri & foRedl @t A w1 ol i
(1) 3TcHSA | 3T FAT FHIAA &7

(F) IucAtsy wify < JOm w®m B?

23. Write about any four of the following in the context of cognitive
development : 1x4=4

(@) Schema

(b) Organization

(c) Adaptation

(d) Assimilation

(e) Accommodation

(f) Piaget

TS foehr@ & Ty #, fordl - & sr ¥ fafau
(%) femm

(@) FaemH=

(M) 3R
() IATHATHLT

(3) THESH
@) T

24. Answer the following questions : 1x4=4
(a) Discuss any two problems faced in old age.
(b) What are the roles of family therapy for the intervention in old age?

(c) Enlist the changes which take place in the sensory capacities of old-
age people.
(d) Describe the developmental tasks in early adulthood as per Havighurst.
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frafafas vt & 3w &

(%) JEEEAT H A arelt fohl & gwenati 1 avie Hifu)

(@) gegrawen § gway & foru it fafeen 6w ofieerd €7

() Ig AN hl Hafesh @HAIsTi § g9 el giEddl 6 g sAmEu)

(g) Bfoas % IR TRive Serawen § fowmegs &™1 &1 auH i

25. Answer any four of the following questions : 1x4=4
(a) Discuss any four criteria of abnormality.
(b) What are the symptoms of Generalised Anxiety Disorder (GAD)?
(c) Mention any two symptoms of schizophrenia.
(d) Describe the symptoms of catatonic schizophrenia.
(e) What do you mean by somatoform disorder?
(f/’  What are the substance-related disorders?
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SECTION-B
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26. What are the laws of perceptual organization? 2
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27. What is arousal? 2
SHIHIISHT =T 8 ?
28. How do moral developments take place in adolescence stage? 2

fopeiaeen o Afae faepm@ 8 BT g7

29. What are the major psychological disorders? 2
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List the stages in the formation of a group.

g % TS % <N i Fel SR

How is reliability differing from validity?
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(a) What are the steps in controlling the self?
e @ FEfa W % w® wem €7
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(b) Why do people join groups?
S wE & e 2a §7
(a) Explain two factors that influence the interpersonal attraction.
IR (3Tqafthen) SAThYU bl THIII ohid o1l @l hRehl shl SHTEAT HifwU|
Or / a1

(b) Explain two somatic therapies.
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How is psychodynamic perspective wuseful to understand human
behaviour?
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(a) What are the ways to measure memory? Explain.
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(b) How will you identify emotions expressed by friend?
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How is growth differing from development?
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Optional Module—A
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(a) Explain biofeedback.
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(b) What are the principles of growth and development?
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(a) What are the cutaneous senses? Discuss.
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(b) What are the important components of the thought process? Explain.

faaa ufsean o mEEql g w1 E7 e i)

(a) What are the uses of intelligence tests?
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(b) Write an essay on disorders.
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What are behavioural models of therapy? Discuss.
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Optional Module—A
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() What are the key steps in career planning? Discuss.
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Aehfcdeh AISoi—a

(b) What are the steps involved in planning the menu for the feeding
program?
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